



Naam: \_\_\_\_\_

Datum: \_\_\_\_\_ Score: \_\_\_\_\_

$$(55 \div 11 + \frac{1}{5}) \times \frac{1}{6} =$$

$$\frac{1}{6} - \frac{1}{4}(\frac{2}{3} + \frac{2}{3}) =$$

$$(14 \div 2 - \frac{3}{4}) \times \frac{1}{2} =$$

$$\frac{2}{3} + \frac{1}{4}(\frac{1}{6} + \frac{3}{5}) =$$

$$36(\frac{3}{2} + \frac{1}{3}) \div 9 =$$

$$\frac{3}{4} - \frac{1}{2}(\frac{3}{2} + \frac{1}{4}) =$$

$$\frac{3}{2} + \frac{1}{3}(\frac{2}{5} + \frac{1}{4}) =$$

$$(48 \div 6 + \frac{1}{5}) \times \frac{1}{4} =$$

$$(5 \div 5 - \frac{3}{2}) \times \frac{2}{5} =$$

$$12(\frac{1}{2} + \frac{1}{4}) \div 2 =$$